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TrigonometryExercised4 for No.9594

2
A
- . P
= T T) (= . .
A= Sln[—] Cos(—]-t-CosE—] Sm(—) .2 =Cos(48°) Cos(12°) — Sin(48°) Sin(12°) |4
18 9 18 9 S
T ’ 2 2 S
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12 (1= n 1nr) (= 2 Tan(22.5%) M
3=Tan(105°) .4 =Sin((-285)°) 3= 8in| T 7| Cos| 7] Cos| T ) Sin T b= a
Nol=| Ct(nnJ e ( 137:],1\/02: 1 - Tan(22.57) S t
2 =00 0 =Lsc — Tan(12°) + Tan(33° n n h
12 12 a2 )+ Tan(33 ) .8:2Sin(—j Cos[—j
o 177 1 — Tan(12°) Tan(33°) 8 8 @
.7=Cos((-345)") .8=Tan 12 7 1 M
- - Tan(—j - Tan(—j U
30 15 2
= 10=2Cos(15°) -1 LLT 1]
Tn b
1+ Tan[—J Tan(—J l
L 30 15 N
o
)
L
b3 3w 3w b
A=0,B=—C=n,D=—" A=—B=2mnC=—D=n
2 2 2 2
1 . -1 1 . 1
Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=—" Condl =| Cos(at) =" |, Cond2 =| Sin(B) ="
No3 = 3 6 ., Nod = 6 4
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a + )
S=Cos(aa—P) .6=Tan(a+p) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2 B) .8=Tan(2 a) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(6°) =0.995), Question = Cos(3°)], ,| U
T
M
No6 = [ Cond = (Cos(42°) = 0.743), Question = Sin(21°)], ,| U
T
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TrigonometryExercise4 for No.9608
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r S 7 1 + Tan(65°) Tan(20°) LLS ]
.I:Cos( ] .2=Sin(15%) 2 Tan(15°) 2 &
12 Y 4=2Cos(22.5°) —1 a1
7 B o
.3:Tan(—nj 4 =Tan(255%) ! Tan(ls ) a
12 T 4n (4n) (m
Nol = . 13 ,No2=| 5=2Sin — o Cos| — = 6= Cos| — | Cos| = |+ Sin| — | sin| = | | , t
.5:C0t£——] .6:Cos(— j ) ? ? ? h
12 2 (= (17=x n 17n) (= @
23w .7=1-2S8in| — .8=Sin Cos| —— |- Cos| ——— | Sin| — M
7=Cse((-255)") .8 =Sin| -~ 8 30 15 30 15
- - 2 Tan(12°) + Tan(33°) v
.9=Cos(15") —Sin(15%) = LL T ]
L 1 — Tan(12°) Tan(33°) J B
o
)
- - - - - :( -
b b3 3n 3w
[A:O,B:—, C=—D :n} [A:n,B:—,C:—,D:2n}
2 2 2 2
. -1 -4 ) -1
Condl = Sm(a)— , Cond2 =| Cos(B)=—" Condl =| Cos(at) =", Cond2 =| Sin(B) ="
No3 = S/ Noa= 9 2
1=C0s(0L) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a - )
S5=Cos(aa+fB) .6=Tan(a—B) S=Cos(p-a) .6=Tan(a+p)
L .7=Cos(2 o) 8=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) J
M
No5 =[ Cond = (Cos(52°) = 0.616), Question = Sin(26°)], ,| U
T
M
No6 =[ Cond = (Cos(22°) = 0.927), Question = Cos(11°)], ,| U
T
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TrigonometryExercise4 for No.9646
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Nol = 3:Tan(1157) .4=SeC(('775) ) ,N02: . . . . ) . 131 T ) 137 ) T A s t
.5=COS£— 1275) .6:Csc(—1—; 5= Sin(50°) Cos(10°) + Cos(50°) Sin(10°) .6 = Cos| -~ | Cos| <= |~ Sin| —-~ | Sin| = b
@
| .7=Cot(195°) .8 =Sin((-285)°) Tan(s—njnan[lj M
Tan(60°) — Tan(15°) 36 36 U
- o o U 5
1 + Tan(60°) Tan(15%) I_Tan(_ﬂ] Tan(L] L7l
36 36 By
) A
L 9=1-28in(22.5%) .10=2 Sin(15%) Cos(15°) ] o
2
L
P 3n 3n T
A=0,B=—C=—D=21 A=n,B=—,C=—D=n
2 2 2 2
, 1 5 4 , 2
Condl =| Sin(a.) =7 |, Cond2 =| Cos(B) =" Condl =| Cos(at) =1, Cond2 =| Sin(B) ="~
No3 = 2 9 ., Nod= 7 5
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) .4 =Sin(a + B) .3=Tan(a) 4 =Sin(a - PB)
S=Cos(Bp—a) .6=Tan(a—f) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Cos(2 B) .§=Tan(2 a) ] L .7=Sin(2 B) 8=Tan(2 a) ]
M
No5 = [ Cond = (Cos(8°) = 0.990), Question = Sin(4°)], ,| U
T
M
No6 =[ Cond = (Cos(74°) = 0.276), Question = Cos(37°)], ,| U
T
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TrigonometryExercise4 for No.9649
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_ 1951° Q1650 M
L.7=Sec((-195)°) .8=Sin((-165)°)] Tan(gj”an(l_@ U
= .8 =Cos(65°) Cos(20°) + Sin(65°) Sin(20°) LL T 1]
l—Tan(anan[Lj l
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L
| N e e e
A:O,B— ,C=mn,D= A=—B 2n,C=—",D=nmn
2 2 2
v} (a2 [eomr(stcr-2) -]
Condl =| Sin(a) =~ |, Cond2 =| Cos(B) =" Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 5 2 ., Nod = 7 5
.1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(a) 4=Sin(f-a)
S=Cos(aa+fB) .6=Tan(f—-a) S5=Cos(aa—B) .6=Tan(a+ )
L 7=Sin(2p)  .8=Tan(2 o) ] L 7=Sin(2a)  .8=Tan(2p) i
M
No5 =[Cond = (Cos(8°)=0.990), Question = Sin(4°)], ,| U
T
M
No6 =[ Cond = (Cos(68°) = 0.375), Question = Cos(34°)], ,| U
T
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TrigonometryExercise4 for No.9669
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[ . (m) ] 1371 n Tan(20°) + Tan(40° S
.1 =Cos(105%) ’ZZSIH(EJ ‘3:(;03[ ]Cos{ ] sm( ]Sm( ) 4= (207) (407)
30 30 1 — Tan(20°) Tan(40°) ETan
o 17n
s .3 =Tan(75%) 4—C0t( i j oa 2Tan£ J
or= . 197\ .6=Sin(35°) Cos(10°) + Cos(35°) Sin(10°) >
.5 =Tan(345%) 6 =Cos
12 1—Tan| —
. ) i 12
7 =8in((-255)") .8=Csc| -5 Tan(70°) — Tan( 10°) Sn n 5n) (=
- - 7= .8=Sin| — | Cos| —— |- Cos| —— | Sin| —
1 + Tan(70°) Tan(10°) 18 9 18 9

2
9=1-28in(15°) .10 =2 Sin(22.5°) Cos(22.5%)

[ [ b b1 } i I [ 3n 3w } ]
A=0,B=—C=—D=n A=n,B=—C=—D=21
2 2 2 2
o= {ser= ) cone=(coxmr=3]]| o= coton = contz=[ s =5
Condl =| Sin(a) =— |, Cond2 =| Cos(B) =" Condl =| Cos(at) =T, Cond2 =| Sin(B) ="
No3 = 8 23 Nod = 3 ?
1=Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a - B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(p—a) .6=Tan(a+ ) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(72°) = 0.309), Question = Sin(36°)], ,| U
T
M
No6 =[ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
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TrigonometryExercise4 for No.9717
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T
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Cain _ o 9 18 T
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1 T T (9 (¢ . o . o rr 7
5o 177 3=2 Sln[g) Cos(g] .4 =Cos(40”) Cos(10”) + Sin(40°) Sin(10™) M
.3 =Tan| E .4 =Cot| — 1 5 a
Nol = " , No2 =|.5=Sin(65°) Cos(20°) — Cos(65°) Sin(20°) .6=1-28Sin(15%) A , t
T
5=Cse((-15)°) .6:Sec(— ) (7_nj (1] h
T -T
12 Mg )" Mg =Y (xY @
o . Sn = .8=Cos| —— | —Sin| — M
.7=Tan((-105)°) .8=Sin| ——— (7 ch ( T J 12 12
L 12 ) ] 1+ Tan| — | Tan| — U
18 18 T
0.2 2 Tan(15°) oy
9=2Cos(22.5°) — 1 J0=——" 2
L 1 — Tan(15°) ] o(
b
- - - - - .'( -
[ b1 375} [ 3w b }
A=0,B=—C=n,D="— A=—B=2mnC=—D=n
2 2 2 2
1 , 5 1 . 5
[Cond] = (Cos(on) :—j, Cond?2 = (Sm(B) :—H [Cond] = (Cos((x) :—), Cond?2 = (Sm(ﬁ) :—H
No3 = 5 7)1 Nod= 3 8
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
.3 =Tan(P) 4 =Sin(a+ B) 3 =Tan(a) 4=Sin(B-a)
S=Cos(aa—B) .6=Tan(f—-0a) S5=Cos(aa+B) .6=Tan(a—)
L .7=Sin(2 o) .8§=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(70°) = 0.342), Question = Cos(35°)], ,| U
T
M
No6 = [ Cond = (Cos(22°) = 0.927), Question = Sin(11°)], ,| U
T
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TrigonometryExercise4 for No.9763

2
i
P
i 2 2 Vv
(= 137 b (13®m T = S
.1 =Sin| = | Cos| + Cos| 7 | Sin .2=Cos| — | —Sin| —
r . 7 15 30 15 30 8 8 LS |
_ - _q; o 2
'I‘C"S(HJ -2 =8in(1057) 3= Sin(105°) Cos(15°) — Cos(105°) Sin(15°) 4=2Cos(15°) —1 &
R 19n .5=Cos(65°) Cos(20°) + Sin(65°) Sin(20°) .6 = Cos(15°) Cos(30°) — Sin(15°) Sin(30°) M
3=Tan(75") .4=Sec _T 7n - a
Nol = No2 = Tan(—j - Tan[—j t
177n) [ . o o 30 15 ’
.5 =Tan(345°) .6=Csc .7 =2Sin(22.5°) Cos(22.5°) = h
12 Tr T @
19 1 1+Tan§ Tanl—5
.7=Cot(195%) .8:Cos[ ] 2 M
L 12/ 2 Tan(15°) (n U
—— 10=1-2Sin| — T
o 2 12 L J
L 1 —Tan(15%) ] 2
o
)
L
I 3w 3n b
A=0,B=—C="—"—D=2n A=n,B=—,C=—D=n
2 2 2 2
1 . -3 . -1 -3
Condl =| Cos(a) =7 |, Cond2 =| Sin(B)=—" Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 2 4 . Nod = 2 4
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(a - ) 3 =Tan(a) 4=Sin(f-a)
S=Cos(aa+fB) .6=Tan(fp—a) S5=Cos(ac+f) .6=Tan(a—)
L .7=Sin(2 o) .8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 o) |
M
No5 = [ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
M
No6 =[ Cond = (Cos(64°) = 0.438), Question = Cos(32°)], ,| U
T
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TrigonometryExercise4 for No.9877

i} . )
ol )l J iy
Tn b Tn) (= P
.1 =Sin| — | Cos| 7 |+ Cos| — | Sin| 7
36 18 36 18 n v
1+ Tan| — | Tan| = S
3 12
_ - T LL S 1]
J—Cos(75) 2= Sin(7_ﬂj 3= Sin(72°) Cos(12°) — Cos(72°) Sin(12°) 4=2 Sm( 12] COS[ 12) &
12 M
3= Tan(15°%) 4T ( 19 nj Tan[4—nJ+Tan(LJ a
.3 =Tanl .4 =Tan| - 2 15 15
Nol = 12 )|, No2 = 5=2Cos(22.5%) — 1 = ., !
5=8in((-195)°) .6=Cot((-165)°) I_Tan[_“) Tan(i) h
231 197 15 15 @
.7=Sec| ——— =Csc 2 2 M
L 12 12 ) ] .7=Cos(15°) —Sin(15°) .8=Cos(40°) Cos(10°) + Sin(40°) Sin( 10°) U
T
2 Tan| — 2 LT
8 (m .
9= - 10=1-2 Sln[_j 2
1-T (EJ ’ (
I an| 3 ii
L
I 3w 3w
A=0,B=—C=—D=2n A=~ Bem C=m D=t
2 2 2 2
. 5 3 2 . -1
Condl =| Sin(a) =T |, Cond2 =| Cos(B) =" Condl =| Cos(a) =", Cond2 =| Sin()=—"
No3 = 7 8 . Nod = 5 6
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.1 =Cos(a) .2=Sin(P) 1=Sin(a) .2=Cos(p)
.3=Tan(pB) 4 =Sin(a - ) 3 =Tan(P) 4 =Sin(a - )
S=Cos(p—a) .6=Tan(a+ ) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Cos(2 o) 8=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 a) ]
M
No5 =[ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U
T
M
No6 =[ Cond = (Cos(32°) = 0.848), Question = Cos(16°)], ,| U

T
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TrigonometryExercise4 for No.9911

Nol =

No3 =
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.2=Sin(105°)
4 =Cot((-345)°)
] .6=Cos((-75)°)

I1n o
2 ) .8=Sec(345")

, No2 =

. B
[A:O,B:E,C:R,Dz—}

2 2
.1=Cos(15°) —Sin(15°)

.3=Cos(35°) Cos(25°) — Sin(35°) Sin(25°)

i 2
S=1-2 Sin[—j
8

.7=2 Sin(22.5%) Cos(22.5%)

2 Tan(22.5°%)

2
1 — Tan(22.5%)

37
2

[Cond] = (Cos(on) :gj Cond?2 = (Sin(B) :ESH
, ,Nod=
.1 =Sin(a) .2=Cos(B)
.3 =Tan(P) 4=Sin(f-a)
S=Cos(aa—P) .6=Tan(a+p)
.7=Cos(2 o) .8=Tan(2 B) ]

No5 = [ Cond = (Cos(48°) = 0.669), Question = Cos(24°)],

No6 = [ Cond = (Cos(72°) = 0.309), Question = Sin(36°)],

11 n) (n)
— Tan| —
36 18
11 nJ ( n )
Tan| —
36 18
Tan(20°) + Tan(25°)
1 - Tan(20°) Tan(25°)

i 2
6=2 Cos(—] -1
12

Tan(

1+ Tan(

[ T= b Tn) ([ m
8= Sln(—j Cos[—) - Cos(—J Sln[—j
30 15 30 15

.10 = Cos(70°) Cos(10°) + Sin(70°) Sin( 10°)

[ [ b 3n } ]
A=—",B=n,C=—"",D=2n
2 2
1 2
[Cond] = (Sin(a) = Ej’ Cond?2 = [COS(B) :;H
.1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4 =Sin(a + )
S5=Cos(aa—B) .6=Tan(f—-a)
.7=Sin(2 o) .8=Tan(2 B) ]
M
U
T
M
U
T
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TrigonometryExercise4 for No.10027

)
_ ; _ o
T T
Tan(—j - Tan(—j P
30 15 1%
= .2=28Sin(15%) Cos(15°)
Tn b S
1+Tan(—J Tan(—] S
- s T 30 15 LS 1]
.1 =Cos(105%) .Z:Sin(—j Tan(12°) + Tan(33°) n AN EANE &
12 3= .4=Cos| — | Cos| — | - Sin| — | Sin| — M
[ 1 ) . ( 775] 1 — Tan(12°) Tan(33°) 10 15 10 15 u
3 =Tan| — 4=Sin| -—— o o : o o o042
Nol = , No2=|.5=Cos(72°) Cos(12°) + Sin(72°) Sin(12°) .6=2Cos(22.5°) -1 , , t
5=Sec(195°)  .6=Cos(255°) S s s h
117 .7=Cos| 7| —Sin| — .8=1-2Sin — @
.7=Tan[— j .8 =Cot(285°) 12 12 8 M
L 12 ] b1
2 Tan| — U
. o o or o 12 T
.9 =Sin(50) Cos(10”) + Cos(50?) Sin( 10°) A)=—"""7 - )“
T A
1 —Tan| — )
I an(lzj | o
)
L
[ b b } [ 3n 375}
A=0,B=—C=—D=n A=—B=2nC=nD="—"
2 2 2 2
1 . 2 1 ) -4
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=—"
No3 = 2 30 No4= 2 5
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(P)
3 =Tan(a) .4=Sin(a - B) .3=Tan(a) .4 =Sin(a - B)
S=Cos(Bp—a) .6=Tan(a+f) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 a) ]
M
No5 =[ Cond = (Cos(20°) = 0.940), Question = Cos(10°)], ,| U
T
M
No6 = [ Cond = (Cos(64°) = 0.438), Question = Sin(32°)], ,| U
T
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TrigonometryExercise4 for No.10063
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_ - P
o o . o o 5 (5m b St} (=m
.1 =Cos(50%) Cos(20”) + Sin(50") Sin(20°) .Z:Sm[—] Cos[—J—Cos(—j Sln[—J 14
9 18 9 18
, s
. 02 n s
r . 7 .3=1-28in(22.5°) .4=2COS(_j -1 e
= Sin(—J 2= Cos(75°) 12 &
12 T T M
177 Tan(35°) + Tan(25° Tan{ 57~ Tan 7y a
Noj | 3=Tan(105°)  4=Tan| ~——=|} _ _Tan(35) + Tan(25) - t
or= V0= 1 - Tan(35°) Tan(25°) n . ’
5=Sin((-105)°) .6=Csc((-345)°) 1+ Tan 3 Tan 2 h
17 o @
- - -195)° 2 Tan(22.5
7 CO{ 12 ) -8 = Cos((-195)7)] .7=2Sin(15%) Cos(15°%) _(—)2 M
1 - Tan(22.5%) u
2 2 L 7]
(w Tn n) (7= b = .
.9=Sin| — |Cos| — |+ Cos| — | Sin| —— .10=Cos| —| —Sin| — l
L 9 18 9 18 8 8 ] y
J
L N
T R 3n b
A=0,B=—C=——,D=21 A=n,B=—"—,C=—,D=n
2 2 2 2
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No3 =

[Cond[ = (COS(G) :% , Cond? = (sm(ﬁ) :fﬂ

, ,No4=

[Cond] = (Sin(a) :% , Cond2 = [COS(B) :75”

.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(a+B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(p—a) .6=Tan(a—B) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Sin(2 o) 8=Tan(2 B) ] L .7=Sin(2 o) .8=Tan(2 P) J

M
No5 =[ Cond = (Cos(62°) = 0.469), Question = Sin(31°)], ,| U
T
M
No6 =[ Cond = (Cos(26°) = 0.899), Question = Cos(13°)], ,| U
T
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TrigonometryExercise4 for No.10120

2
1 =1-28in(22.5°)

N

e

.1 =Cos
2
b
3=Tan| —
12

.5 =Tan(195°)

S5n
7= Csc(— —j
L 12

(S J—

Nol =

.(191:)
.4 = Sin|
12

.6 = Cot(345°)

.2=Sin(15°)

, No2 =

b
2 Tan(—j
12

Tan| — |+ Tan| —
9 9

2
i
1 —Tan| —
12
2
b
S5=2Cos|— | -1
12

.6=Sin(20°) Cos(10°) + Cos(20°) Sin( 10°)

ol o

.8=Cos(165°)

2 2
.7=Cos(15°) - Sin(15°)

8=

.9=Sin(102°) Cos(12°) — Cos(102°) Sin(12°)

1+ Tan(

o|f

Y
Jo

10=2 Sin(

o |3

=g

{3

[ [ b1 375} ] [ [ 3w b } i
A=0,B=—C=n,D=—" A=—B=2mnC=—D=n
2 2 2 2
[Cond] = (Cos(on) :lj Cond?2 = (Sin(B) :EH [Cond] = (Cos((x) :l), Cond?2 = (Sin(ﬁ) :ln
No3 = 3 5 ., Nod = 6 3
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a+ B) 3 =Tan(P) 4=Sin(B-a)
S=Cos(p—-a) .6=Tan(a—p) S5=Cos(aa+B) .6=Tan(a— )
L .7=Cos(2 B) .8=Tan(2 a) ] L .7=Sin(2 o) .8=Tan(2 p) ]
M
No5 =[ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
M
No6 =[ Cond = (Cos(62°) = 0.469), Question = Cos(31°)], ,| U
T
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TrigonometryExercise4 for No.10367

_ . ) N
.1 =Sin(15%) .2=Cos| ——
12
Nol = .3 =Tan(75%) .4 =Cot(165%)  No2 =
137 S5n
5= Tan[ ] 6= Cos(— —]
12 12
L.7=Sec(255°) .8=Csc((-195)%)]

No3 =
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A=0,B=

]

[Cond[ = (Sin(a) =
1
3

=Cos(a)
=Tan(a)

.5=Cos(a—B)

.7=Cos(2B)

No5 =

No6 =

s

i 2
=2 Cos(—] -1
12

i 2
3=1-2 Sin[—j
8

.5=28Sin(22.5%) Cos(22.5%)

Tan(12°) + Tan(18°)
1 — Tan(12°) Tan(18°)

.4 =Cos(20°) Cos(40°) — Sin(20°) Sin(40°)

2 2
.6 =Cos(15°) —Sin(15°)

2 Tan(22.5°%)

2
1 — Tan(22.5%)

o=r
C=—"D=n
2

.9=Sin| —— | Cos| —— |- Cos
L 30 15

Cond?2 = [COS(B) :75”

.2=Sin(P)
4=Sin(a +B)
LH=Tan(f—a)

.8§=Tan(2 o) i

771:] . ( n)
— | Sin| —
30 15

, No4 =

[ Cond = (Cos(68°) = 0.375), Question = Cos(34°)],

[ Cond = (Cos(22°) = 0.927), Question = Sin(11°)],

2n T (2mn

.8=Cos| —/ | Cos| 7 |+ Sin| —/——
5 15 5

S5n T

0= Sln Cos| — |+ Cos| —
9 36 9

Jsul %)
)l

[ 3n 311
A:—B 2n,C=n,D=
2 2
[Cond] = (Sin(a) :73], Cond?2 = [COS(B) :;lﬂ
.1 =Cos(a) .2=Sin(P)
3 =Tan(P) .4 =Sin(a - )
S=Cos(p-a) .6=Tan(a+f)
.7=Cos(2B) .8=Tan(2 o) ]
M
U
T
M
| U
T
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TrigonometryExercise4 for No.10372

)
0+2 . . . T Sn T . 5n P
.1=Cos(15”) —Sin(15%) .2=Sin| — [Cos| — [+ Cos| — | Sin| ——
18 18 18 18 Vv
2 S
{17z b 17n) (= (=
.3 = Sin| Cos| — |- Cos| Sin| — 4=1-2Sin| — LS |
_ _ 30 15 30 15 12
T T &
.1=Cos E .2=Sin(75%) 2Tan(_J M
12 o o . oy o
,3=Tan(15°) .4:C0t(1950) S5 2—2 .6=COS(15 )COS(30 )—Sln(lS )Sm(30 ) a
Nol = 19 1 2 , No2 = b R t
.5:Tan(— ] 6:Csc( J I' = Tan| 12 h
12 12 5 @
| .7=Cos(165°) .8=Sec(255°) ] .7 =Cos(70°) Cos(10°) + Sin(70°) Sin( 10°) .8=2Cos(22.5°) -1 M
(5]l ;
Tan| — |- Tan| —
(m b 18 9 LL 7T 1]
.9=2Sin| — | Cos| — 0=
8 8 Sw b3 2)
1+ Tan| — | Tan| — -
L 18 9 ] o
)
L (0
[ T 3n} [ b3 3w }
A=0,B=—",C=n,D=""— A=",B=n,C=—",D=2n
2 2 2 2
1 . 2 -4 . -1
Condl =| Cos(at) =7 |, Cond2 =| Sin(B)="" Condl =| Cos(at) =—"|, Cond2 =| Sin(B) ="
No3 = 2 33 No4= 7 2
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(a+B) 3 =Tan(a) .4 =Sin(a - )
S=Cos(aa—B) .6=Tan(f—-a) S=Cos(p-a) .6=Tan(a+p)
L .7=Sin(2 B) 8=Tan(2 o) J L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
M
No6 =[ Cond = (Cos(24°) = 0.914), Question = Cos(12°)], ,| U
T
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TrigonometryExercise4 for No.10375

.1 =Sin(75°)
T

3= Tan[zj

Nol =

JS= Tan(

.7=Csc(195°)

4=Sec((-165)%)

197w .
) 6= Sln[—
12

[Cbnd]z(sm(a)—
1
3

7)) |
2= Cos(—J
12

13n)’
2

1
231:)
12 ) |

8= Cos(

A=0,B=

s

]

No2 =

Tan[

2 2 T S5n ..
.1 =Cos(22.5°) —Sin(22.5°) 2= Cos[ j Cos( ] Sm[—j Sm(
18 18 18

1975] (n]
—Tan| —
60 15

1+ Tan[

1975) (n]
Tan| —
60 15

Tan(12°) + Tan(33°)

m } 1
C=—"D=n
2

Cond?2 = [COS(B)::igj}

1 — Tan(12°) Tan(33°)
2 Tan(22.5°%)

2
1 — Tan(22.5°)

9= 2Sm(nJCm(nj .10 = Cos(40°) Cos(10°) + Sin(40°) Sin(10°)

S_HJ_
18

2
4=1-2Sin(15°)

.6 =Sin(12°) Cos(78%) + Cos(12°) Sin(78°) |

i 2
8=2 Cos(—J -1
8

i [ 3n 3n}
Af—BZnCnD—
2 2

[Cond] (Sm(a)— j Cond?2 = [COS(B):%H

e x| NTE@Fs~r R SR

No3 = ., No4 =
=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
=Tan(a) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a - )
S5=Cos(aa+fB) .6=Tan(a—B) S=Cos(p-a) .6=Tan(a+p)
L .7=Cos(2B) 8=Tan(2 o) J L .7=Sin(2 B) S=Tan(2 o) ]

M

No5 =[ Cond = (Cos(76°) = 0.242), Question = Sin(38°)], ,| U

T

M

No6 =[ Cond = (Cos(52°) = 0.616), Question = Cos(26°)], ,| U

T
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TrigonometryExercise4 for No.10426

)
A
_ ) J P
T . ) 2 14
4]:2C0S(_j—1 .2=1-28Sin(15%)
12 S
r - . o o o o o 2 Tan(22.5°) LS 1]
. ' . .3 =Sin(42°) Cos(12°) — Cos(42°) Sin(12°) A=—""""7 &
.1 =Cos E .2 =Sin(105%) 1_Ta2n(22'50) 2 sl
3-T [SRJ 4=5 [ Snj 5= Cos(100°) Cos(10°) + Sin(100°) Sin(10°)  .6=C (nj Si (nj @
3= - 4= -— .5 =Cos 0s in in .6=Cos| —| —Sin| —
Nol = 12 12 ) [ No2= 8 s) | |||t
=Sin((-15)° = - ° T 2n b 2n h
3 =8in((-15)7) 6= Cse((-285)") J:Cos(—] COSE_J—Sin(_) Sin(—] .8=2Sin(22.5°) Cos(22.5%)
137 s 9 9 9 9 @
.7=Cot| ——12 .8=Tan(195") T T 1 T M
- - Tan| — |- Tan| — Tan| + Tan| — U
18 18 60 15
9= 0= LL 7]
Tn b I1n T .
1+ Tan| — |Tan| — 1 — Tan Tan| — l
L 18 18 60 15)] v
)
L
[ T 375} [ 3n b }
A=0,B=—C=n,D="— A=—B=2mnC=—D=n
2 2 2 2
) 1 -4 1 . 3
Condl =| Sin(a.) =~ |, Cond2 =| Cos(B) =" Condl =| Cos(at) =7 |, Cond2 =| Sin(B) ="
No3 = 2 50 Nod= 2 8
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(P) 4 =Sin(a+ B) 3 =Tan(P) .4 =Sin(a + )
S=Cos(aa—P) .6=Tan(f—-0a) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Sin(2 B) .8=Tan(2 a) ] L .7=Sin(2 a) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
M
No6 =[ Cond = (Cos(48°) = 0.669), Question = Sin(24°)], ,| U
T
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TrigonometryExercise4 for No.10628

i 2
2=1-2 Sin(—J
8

4=Cos(12°) Cos(18°) — Sin(12°) Sin(18°)

Sw . o i 3 )
.]=C0s[ 12) .2=Sin(105") T 7c (7)) (= (4n 7c an) [« _
5=Cos| — | Cos| —— +Sm§ Sin| — 46:SmT Cos| — |+ Cos| — | Sin| —

SRk NgE®s s Rpun v

o . 13n 3 15 15 18 9 18
.3 =Tan(15%) .4 =Sin| -
Nol = 12 /|, No2 = (75] 8 s
o o 2 Tan| —
5 =Sec((-75)") .6=Cos(165%) ([ 17m b 17n) (= 8
17 1 13 x .7 = Sin| 30 Cosg —Cos? Smg =" "3
.7 =Tan| — .8 =Cot T
L 12 12 /| 1 — Tan| 3
Tan(20°) + Tan(25°) . o o LL 7 1]
9= .10=2 Sin(22.5") Cos(22.5%)
L 1 — Tan(20°) Tan(25°) ]
i b 3n ] [ b 3n ]
A=0,B=—C=n,D="—" A=—B=n,C=—"—D=2n
2 2 2 2
. 1 -3 . 5 1
Condl =| Sin(a.) =~ |, Cond2 =| Cos(B)=—" Condl =| Sin(a) == |, Cond2 =| Cos(B) =7
No3 = 2 4 ., Nod = 7 2
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(P)
.3=Tan(a) 4 =Sin(a + B) 3 =Tan(P) 4=Sin(B-a)
S=Cos(p—-a) .6=Tan(a—p) S5=Cos(aa+f) .6=Tan(a—)
L .7=Sin(2 B) 8=Tan(2 a) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(10°) = 0.985), Question = Cos(5°)], ,| U
T
M
No6 = [ Cond = (Cos(80°) = 0.174), Question = Sin(40°)], ,| U
T
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TrigonometryExercise4 for No.11408

.1=Sin(15°)

.3=Tan(75%)
Nol =

No3 =
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(77-5) _
.2=Cos| —
12

4=Cse((-15)°)

5w
5= Sec(——J 6=
12

. (17 n]
.7 = Sin| 8=
L 12

o | No2 =
Cos((-165)°%)
Tan((-105)%)

|:A 0, B—_

.1 =Sin(a)
.3=Tan(pB)
S5=Cos(p—-a)
L .7=Sin(2 B)

Nojs =

No6 =

[Cond] = (COS( o) = g) Cond2 = (sm( B)= sﬂ

.1 =2 Sin(22.5%) Cos(22.5°)

.3=Sin(15%) Cos(75°) + Cos(15°) Sin(75°)

Tan(42°) — Tan(12°)
1+ Tan(42°) Tan(12°)

2
.7=2Cos(15°) —1

i
2 Tan[—j
12

2
T
1- Tan(—)
12
3n } i [
2

C=mn,D=

[Cond]
, ,No4d=
.2=Cos(PB)
4 =Sin(a - B)
6=Tan(a + )
.§=Tan(2 o) i L

11
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TrigonometryExercise4 for No.11560
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TrigonometryExercise4 for No.11806
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TrigonometryExercise4 for No.12219
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TrigonometryExercise4 for No.12954
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TrigonometryExercise4 for No.12964
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TrigonometryExercise4 for No.12971

)
[ Tn T ) - 'I(--
Tan| — [+ Tan| — P
o2 @i 18042 36 18
1 =Cos(15°) —Sin(15°) 2= 14
Tn b S
1- Tan[—J Tan(—J
) . 36 18 LLS 1]
A= Cos[lj .2=S8in(75°) 3=2 Sin(lj COSElJ .4 =Sin(105°) Cos(15°) — Cos(105°) Sin(15°) €
12 12 12 M
o 19n 7n T a
.3 =Tan(105 4=T L -
Nol = an( ) an( 2 J  No2 = Tan( 30 J Tan( 15) , ¢
5= Sec(195°) 6=Cot((-15)°) S= T i .6 =Cos(70") Cos(10™) + Sin(70”) Sin(10") h
23 1t 1+ Tan[—J Tan(—J @
.7 = Sin| 5 .8=Cos((-255)°) 30 15 M
- - 2 Tan(22.5°) nY U
T, .8:2Cos§ -1 T
1 — Tan(22.5%) T
A
b Sn (= (5= . o2
9= Cos[—j Cos(—J - Sln[—j Sm(—j 10=1-2Sin(22.5) N
L 12 12 12 12 ] )
)
L
b1 T 3w 3w
A=0,B=—",C=—",D=n A=n,B=—",C=—"",D=2n
2 2 2 2
3 . 1 . -1 2
Condl =| Cos(at) == |, Cond2 =| Sin(B) == Condl =| Sin(a.) =— |, Cond2 =| Cos(B)=T_
No3 = 8 2 . Nod= 2 7
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(a + B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa—fB) .6=Tan(f—a) S=Cos(aa+P) .6=Tan(a—P)
L .7=Cos(2 B) S=Tan(2 o) ] L .7=Sin(2 B) S=Tan(2 o) J
M
No5 = [ Cond = (Cos(66°) = 0.407), Question = Sin(33°)], ,| U
T
M
No6 =[Cond = (Cos(6°) = 0.995), Question = Cos(3°)], ,| U
T
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TrigonometryExercise4 for No.13023

_ P _
i
) ) P
2 Tan(15°) 4r T (4xm) (= |4
l=—""—"75 .2:C0s7 COSE —SmT Smg g
1 — Tan(15°%) s
i ) Tan(50°) — Tan(20° .
-1=Sin[7—nJ .2=Cos(75°) 3= an(30) — Tan(20) .4 =Sin(85°) Cos(25°) — Cos(85°) Sin(25°) &
12 1 + Tan(50°) Tan(20°) M
b4 Tm 2 a
Nol = .3:Tan(Ej .4:Cot(—;]  No2 = .5:28in(§j Cos(%j .6:2COS(%j -1 A , ¢
137w h
. ° 2
.5 =Sin(285°%) .6:Cos( > j Tan(Tn]+Tan(§J @
|7=Tan(165°) .8 =Sec((-75)°). 7=8in(15°) Cos(30°) + Cos( 15°) Sin(30°) 8= 5 . M
1- Tan(—) Tan(—] U
9 9 LL T 1]
2 2 2 )
L .9=1-28in(22.5°) .10 =Cos(15°) —Sin(15°) ] Z
o(
2
- - - - - :( -
b 37 3n i
[A:O,B:—,C:—,D:Zn} [A:n,Bz—,C:—,Dzn}
2 2 2 2
) 5 2 -4 ) 1
[Cond] = (Sm(a) :—J, Cond?2 = (COS(B) :—H [Cond] = (Cos(on) :—J, Cond?2 = (Sm(ﬁ) :—H
No3 = 6 T3 No4= 7 2
.1 =Cos(a) .2=Sin(B) .1=Sin(a) .2=Cos(B)
.3=Tan(B) 4=Sin(f-a) .3 =Tan(P) 4 =Sin(a +B)
S=Cos(aa—B) .6=Tan(a+f) S=Cos(aa—P) .6=Tan(f—-0a)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2 o) .§=Tan(2 B) ]
M
No5 = [ Cond = (Cos(40°) = 0.766), Question = Sin(20°)], ,| U
T
M
No6 =[ Cond = (Cos(14°) = 0.970), Question = Cos(7°)], ,| U
T
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TrigonometryExercise4 for No.13033
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r . 14
27 b (2m) (= . o o oy a: o
1 =Cos| — | Cos| —— |+ Sin| — | Sin| —— | .2=Sin(55") Cos(10") — Cos(55") Sin(10") N
9 18 9 18 s
Tr . o Tan(85°) — Tan(25°) ) o o &
1 =Cos| — .2=Sin(75°) 3= 4=28in(22.5%) Cos(22.5°) e
12 1 + Tan(85°) Tan(25°) M
3 = Tan(15° 4T(13n] ) 752 th a
Noz=| S=Tan(15)4=Tan == 11 von— 5=1-2Sin(15%) .6:Cos[§J —Sin[gj e
5 =Sin(255° 6=C (lhj n n n i !
S =8in(2557) 6= Cof 7 .7=Sin[§) COS(;)+COS[§) Sin(;j .8 =Cos(50°) Cos(10°) — Sin(50°) Sin(10°) @
o o M
L.7 = Cos((-255 .8=Csc((-345)")
((-255)°) ((-343)°) ) 2 Tan(22.5°) U
9=2Cos 1] -1 do=——""T"T" 7
| 1 — Tan(22.5°) i o y o
o
:)
o

[ 37 37 } i
A=n,B=—",C=—",D=2n
2 2 2

_ - . _
[A:O,B:E,Cz—,D:n}

[Cond] = [Sin( o) = gj Cond?2 = (COS( B)= glﬂ [Cond] = (Sin(a) = ?j Cond2 = (COS( B)= %H

No3 = ., No4 =
.1 =Cos(a) .2=Sin(PB) .1 =Cos(a) .2 =Sin(P)
.3=Tan(B) .4 =Sin(a - B) 3 =Tan(P) 4 =Sin(a + )
S=Cos(aa+B) .6=Tan(f—a) S=Cos(p-a) .6=Tan(a—p)
L .7=Cos(2 o) 8=Tan(2B) ] L .7=Sin(2 a) .8=Tan(2 B) ]

M

No5 = [ Cond = (Cos(22°) = 0.927), Question = Cos(11°)], ,| U

T

M

No6 = [ Cond = (Cos(68°) = 0.375), Question = Sin(34°)], ,| U

T
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TrigonometryExercise4 for No.13197

2
e
P
B 2 2 2 ] VvV
T T T
i =2COS(_] -1 .Z:Cos(—J —Sin(—) S
12 8 8
I ] 41 n LLS 1]
Sw
- 0 — Qinl Tan| — |- Tan| — &
3=Tan(15°) 4= Cot((-285)") HM[‘*_R] Tan(ﬁ) I - Tan(15°) a
Nol = Tn 0. | No2 = 9 , , t
S=Cos| ———| .6=Csc((-195)") 2 h
12 5=1-28in(22.5%) .6=2Sin(15°) Cos(15°) @
17 = 237 o o
- qj _ Tan(107) + Tan(20
-7—3”{ I j -S—Ta“[ 2 j 7= Cos(12°) Cos(33°) — Sin(12°) Sin(33°) g=—n(10) + Tan(20) M
N - 1 — Tan(10°) Tan(20°) U
o 5 . o . o (5m T Sn) (= LL 711
.9=Cos(65") Cos(20”) + Sin(65”) Sin(20”) .70 = Sin| — | Cos| — |+ Cos| — | Sin| =
L 12 12 12 12/ 2)
o
2
L (]
b 3n T b
A=0,B=—,C=—D=21 A=n,B=—,C=—D=n
2 2 2 2
) 5 4 -5 ) 2
Condl =| Sin(a.) =~ |, Cond2 =| Cos(B) == Condl =| Cos(at) =", Cond2 =| Sin(B)=—_
No3 = 6 7 . Nod = 8 7
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) .4 =Sin(a + B) .3 =Tan(P) 4=Sin(f-a)
S=Cos(Bp—a) .6=Tan(a—f) S=Cos(aa—P) .6=Tan(a+p)
L .7=Sin(2 B) .§=Tan(2 a) ] L .7=Cos(2B) 8=Tan(2 a) ]
M
No5 =[Cond = (Cos(6°) =0.995), Question = Cos(3°)], ,| U
T
M
No6 = [ Cond = (Cos(38°) = 0.788), Question = Sin(19°)], ,| U
T
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TrigonometryExercise4 for No.13907

2
i
i 1= b (1ln) (= o2 . 02 | P
.1 =Cos| —— | Cos| —— |— Sin| Sin| — .2=Co0s(22.5") —Sin(22.5") 4
60 15 60 15 s
- - (=Y 2 Tan(22.5%) s
.I:Cos(—] .2=Sin(105°) .3=1-2Sin s e &
12 1 — Tan(22.5°) s
M
Sn 137w 2 T T
.3 =Tan BTy .4 =Sec “ 1 5=2Cos(15°) -1 .6=2Sin| — | Cos| — a
Nol = | No2 = 12 12 ’ ;
o [ 23m 5n Tn h
.5 =Csc((-165)") .6=Sin| — Tanl — | + Tan| —
12 36 36 o o O @i A0 @
117 = .8=Sin(12") Cos(78") + Cos(12”) Sin(78") M
7=Cot(345°)  .8=Cos I_Tan(ﬂj Tan[ﬁ)
- 12/ 36 36 u
Tan(35°) — Tan(5°) . o o 0\ @ o LT
= .10 =Sin(110%) Cos(20°) — Cos(110”) Sin(20") 2)
L 1 + Tan(35°) Tan(5°) J _(
)
L (0
T b 3n 3n
A4=0,B=—,C=—D=n A=—"—B=2n,C=n,D=""—
2 2 2 2
. 1 -1 4 . -3
Condl =| Sin(at) =7 |, Cond2 =| Cos(B)=—" Condl =| Cos(at) =7 |, Cond2 =| Sin(B) ="
No3 = 2 611 No4= 9 5
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
.3=Tan(B) .4 =Sin(a + B) 3 =Tan(a) 4=Sin(B-a)
S=Cos(aa—fB) .6=Tan(f—a) S5=Cos(ac+f) .6=Tan(a—)
L .7=Cos(2 a) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[Cond = (Cos(74°) = 0.276), Question = Cos(37°)], ,| U
T
M
No6 = [ Cond = (Cos(8°) =0.990), Question = Sin(4°)], ,| U
T
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TrigonometryExercise4 for No.13991
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.2=Cos(15°%)
.3=Cos

1=
36

Jo

b
18

2ok

1In
36

N

.1 =Cos(12°) Cos(78°) — Sin(12°) Sin(78°)

i

18

)

- 2
2=1=-2 Sin(—j
12

2
4=2Cos(15°) -1

N N N S O I I S "SR U 20 T VISR KO

3= Tan(;j 4 =Csc((-165)%) (n . ATNE" 2 Tan(22.5°)
Nol = , No2 = .5:Slng COSE +Cosg SIHE == 5
45:COS(— 117;] 6= Sin((-345)°) I=Tan(22.5)
. o o B LA .
.7:CO{_ 1132n] .stec(_sl_ﬂ .7=2Sin(22.5) Cos(22.5%) .8_00{8] Sm(g]
) - e o o Tan(40°) — Tan(10°)
.9=Sin(72) Cos(12”) — Cos(72°) Sin(12%)  .10= LT
i 1 + Tan(40°) Tan(10°) |
[ [ T 3n} ] I [ b1 3w } ] _ _
A=0,B=—C=n,D="—" A=—B=n,C=—"—D=2n
2 2 2 2
o= (smer= ) cone=(coxmr=3]| o <[ cotor =3 contz=[ s =3
Condl =| Sin(at) =— |, Cond2 =| Cos(B)="" Condl =| Cos(at) =", Cond2 =| Sin(B) ="
No3 = 4 9 . Nod = 4 5
.1=Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa+fB) .6=Tan(f—-a) S5=Cos(aa+B) .6=Tan(a—)
L 7=Sin(2p)  .8=Tan(2 o) ] L 7=Sin(2a)  .8=Tan(2p) i
M
No5 = [ Cond = (Cos(64°) = 0.438), Question = Cos(32°)], ,| U
T
M
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No6 = [ Cond = (Cos(26°) = 0.899), Question = Sin(13°)], ,| U

T
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TrigonometryExercise4 for No.14005

2
i
P
~ ~ 4
2
.1=28in(15°) Cos(15°) 2=1-28in(22.5%) S
I : o 1) ] T T T T T ’ LS
A=8in(757) 2= Cos| 3= COS[_J COS(_) + Sin[—j sm[—) 4=2 COS[_j -1 &
3 12 3 12 8 M
T o o
= — = -15)° Tan(42") — Tan(12
3 Ta“(lzj 4= Cot((-15)7) 5o —tant4z) - Tan(12) 6= Sin(15%) Cos(75%) + Cos( 15°) Sin(75°%) a
Nol = 17 n , No2 = 1 + Tan(42°) Tan(12°) ) , t
.5:Sec(——] .6=Cos(345°) . 4 . A =V =V h
12 T = Cos[—j Cos(—j — Sin[—j Sin(—j 8= Cos(—j - Sin(—j @
M1 . . 15 15 15 15 12 12 b
_.7=Csc _T .8=Sin(165") ] 2 Tan(22.5°) . ) . o . U
=" .10=Sin(70”) Cos(10”) — Cos(70”) Sin(10”)
L 1 — Tan(22.5%) ] LL 7]
)
o
)
L
b1 3w 3w b
A=0,B=—C=n,D=—" A=—B=2mnC=—D=n
2 2 2 2
1 . -2 4 . 5
Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=— Condl =| Cos(at) =T |, Cond2 =| Sin(B) ="~
No3 = 3 7)1 Nod= 7 6
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a - )
S=Cos(aa—P) .6=Tan(a+p) S=Cos(p-a) .6=Tan(a+p)
L .7=Cos(2 B) .8=Tan(2 a) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(40°) = 0.766), Question = Cos(20°)], ,| U
T
M
No6 = [ Cond = (Cos(72°) = 0.309), Question = Sin(36°)], ,| U
T
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TrigonometryExercise4 for No.14157

Nol =

X [Page = 0031]

.3 =Tan(105°

.1 =Cos(75°)

- _
2= Sin(—]
12

) .4=Csc(165°)

.1 =Sin| — | Cos| — |+ Cos| — | Sin| —
18 9 18

9
.3=Cos| —/ | Cos| —— |+ Sin| — | Sin| —
5 15 5 15

b o
2=2 Sin(—] Cos(—
12 12

.6=Cos(15°) Cos(30°) — Sin(15°) Sin(30°)

2 Tan( 15°)

2
1 —Tan(15°)

2
.8=2Cos(22.5%) —1

2 2
.10 =Cos(15°) —Sin(15%)

2
177 | No2 = —1-2sinl =
.5:Tan( 12J 6=Cos((-285)°)[ J=1 23“{8j
131 ) 23 1 _ Tan(20°)+Tan(40°)
7=Se Ty ) SESm T | - Tan(20°) Tan(40°)
Tan(35°) — Tan(5°)
L © 1+ Tan(35°) Tan(5°)
[ [ T 3n} i I [ 3w
A=0,B=—C=n,D="—" A=——B=2nC=
2 2 2
5 . -1
[Cond[ = (Cos((x) :—J, Cond?2 = (Sm(ﬁ) :—H
No3 = 9 2 , ,No4=
.1 =Sin(a) .2=Cos(B) .1 =Cos(a)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(a)
S=Cos(p—a) .6=Tan(a+ ) 5=Cos(a+B)
L .7=Cos(2 a) 8=Tan(2 B) ] L .7=Cos(2 a)
M
No5 = [ Cond = (Cos(84°) = 0.105), Question = Cos(42°)], ,| U
T
M
No6 = [ Cond = (Cos(20°) = 0.940), Question = Sin(10°)], ,| U
T

0|3

,Dzn}

.2=Sin(P)
.4 =Sin(a - )
=Tan(f-a)

8=Tan(2 B)

)

[ Condl = (Sin(a) = ;4] Cond?2 = [COS( B)= fﬂ
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